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k. Answers without work required to obtain the solution will not receive full

r
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4. Determine if the

5. Use series soluti
point.)

2(x) ;\% -y

A
~+ 2. nan
net

23 (ndnan (4

h=2

Z’;@*?')(m") A (%
n<o

=

)
2008 (1) 4 YA (Y 40 L) + 3
n=o

202 =0y =0
Oy = _ﬁﬁo"iﬁl
o By = -~ - 40, (
ol Ry = g, Lﬁtaaa—:a.) 2 Badke
-a,

=2
0g = ~0-0n =~ \oay
Lliao"‘ ta.) - (ﬁo‘l' a.) -
oo 41tea, +a,-4
?:71:!“" -+ 3%-3 04

Y69 a (1- e

."'(x- )t )3

RO O

-3 1
vectors( (2) ),( ),( ) (}) are Imeailymdependent.
0 0 |
ZMM«? W

Senee Méwﬁw@(&, b #0
(or rao redirea.)

ons to find a solution for 2xy" + y’ + xy = 0 (Note: x = O is a regular singular

S " (20 *)*'i—]y'-t:ftq- IO R A
ot ) 2.3 i (13

:Y—“'DM e Q“”l)?;anoc-f)” + nzafm - =
n+\ n
LM,, (Y e St (x1) %m

n=o -8

W 42T dnan (=

=2

*z-an
na-{
-0

o3 S an-d"

n=o

O Z (na)int2)ans (x=0 ﬁ@*ﬂamz

n==\

ann | (=)™
[CV\%\UWOM“ £ () (mD) ey F (VA t Q™ :}

X Gntanal ©0°
(N2Y )t (re3)ne2) gt (Mr2)onm T Con ks

Lm“)(“* 2) dny, * (e?) (42) anss, 1* O+ Gne\ = O
l Onvy = =0~ Qe ~ Cﬂ*l}" Gt

Vo ("R an- Gar)
‘HS"Z.:L.

2 Jta (x"(’(ﬁwg e i > N




